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i X, @1aBune (15wl N) Y, NIAUIN
1 0 AAAINY 1 9 Y,=N-1
2 1 st 1 10 Y, =Y, +1
3 0 AAAINY 1 9 Y, =Y, -1
4 0 AAAIRY 1 8 Y, =Y, -1
5 1 st 1 9 Yo=Y, +1
6 0 AAAINY 1 8 Yo=Y, -1
7 1 Wiadu 1 9 Y, =Y, + 1
8 1 Rt 1 10 Y, =Y, +1
9 0 AR 1 9 Yy =Yg-1
10 1 g 1 10 Yo = Yoo+ 1
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i X Y, Aatuny Z NMIANITH

1 0 9 Sudu 9 Z, =Y,

2 1 10 Y findu 28 Z,=Y,+2Y,

3 0 9 Y aqad 19 Z,=Y,+Y,

4 0 8 Y anad 17 Z, =Y, +Y,

5 1 9 Y findu 25 Z. =Y, +2Y,

6 0 8 Y anad 17 Z, =Y, + Y,

7 1 9 Y findu 25 Z, =Y, +2Y,

8 1 10 Y Nt 28 Z,= Y, +2Y,

9 0 9 Y anad 19 Z,= Y, + Y,

10 1 10 Y N 28 Zio = Yoo + 2Y,




